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TECHNOLOGY
Internal Assesment Test — 2
Sub: ENERGY ENGINEERING Code: 18ME81
Date: 04/06/2022 Duration: 90 mins = Max Marks: 50 = Sem: 8 Branch (sections): ME (A,B)
Answer all five questions.
OBE
Marks 5 RBT
1 What are the major problems associated with wind power? Explain with neat [10]
sketch, Vertical axis type wind mill. CO3 L2
2 With a sketch, explain the working of “Hot dry rock” geothermal plant. [10]
Co3 L2
3 Explain the typical horizontal axis wind mill, with a neat sketch. [10]
Co3 L2
4 A horizontal shaft, propeller type wind turbine is located in area having the
following wind characteristics:
Speed of wind 10 m/s at 1 atm and 15 deg C. Calculate the following:
i) Total power density in wind stream, W/m?®.
ii) Maximum possible obtainable power density in W/m?. [10] co3 L3
iii) Actual obtainable power density in W/m? assuming 40% efficiency.
iv) Total power from the wind turbine of 120 m diameter.
5 With a schematic diagram, explain the working of vapour dominated geothermal [10]
power plant. co3 P
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